SEAS HEEXRH B EZH K 2024FEAFBRR "m = 2023FEAFTBR
AT =3 (B - . = | & 5| B
Neenn  |MEES| 28 mowmon| 2| g @R B G5 wuae - tow DHCSREREW |G P 8 L7 conenns @uss| § | B | 5
T | T |K|X|E [BF ermioonspcs | 1\mX (5 e H | % | F Y0|mmE). w2 zom x| =
8 | B |5 || ¥ kg ZTersees (EHEERE) - T Db & B | % &8 #H | | =
AX | e 100 14 oL e AR (- 3 EFER = FER AR 10041, 49| 23| 21
s 700 7 5015 « 316043) [ HEEA08 (BB mEEAEMG | 32| 12| 27
AAEAAX | 70| 8 (H BB HE0 TG AD 29 15 1.9
E-BROE | 110] 16 y Z D fth =4 BB 1005, 59| 24| 25
"EE 90| 14 22050 GEBUHEGHL | 51 24| 21
KA UEE 50/ 3 WZHEAD 9 6| 15
ISVRE| 50| 3 (BEEZELOBNEER~D]| 2 1] 20
F7UTHEEE | 65 10 | ks soBmE T2 36| 12| 3.0
i* e 430 4of | BL, R4.0L LoF 3HHEE]| 92| 55| 1.7
gak 2000 10 e T5, QFFMmOmTHER] 21 15| 14
rE  BE 460| 22 - AR R, AEMIEEfRN T 2 (@kMk| 115| 45| 2.6
EERE 2000 8 B I OAMS1EH, WEZ &L 34FEE| 27 15| 1.8
#5045« FH6043) o THIHE T35
(MH#EEHEED (R = s B -
] i 245| 14 . g (H - 3 XXM REEHE] 91 27| 34
ZE 240| 14 &505 « E6043) « i f LW, #=CEIOm| 72| 24| 3.0
g5 180 11 (A EHE0 CERII, ¥B=%51-| 37| 21| 1.8
w2 | @ 165 12| bt K7 MV, BER Ghag] 25 14] 1.8
BE K % ] ICRHE 65 8 Rz L E 2 ERE N C 1. B o fEHA VAT 4 T a— 10 3| 33
* AR —ARHEE <HEYE 5> @ % GEVICHBEER O | £ 5005 « 516043) « 1hi 2' 1961 12.8 | 12.20 b, ALFERER ) « T 6 1] 6.0
e o | (47730 MEER DS B2 | (HEEEE "o =1 TIAB, #&%H
et T 9 XL 2 UNESRAY ¢ IR ) AERA VAT 4T a— b,
-19-1 WA VAT 4T 2 (LFR =% 1 TAB% i,
HERZ 60 9 — bEUTHSET | #HH L R WY {L=PEDORE L V-, ¥ 9 6| 15
y 3 WA, B FEhSIEA, B oA &, B
%50 50 « BF6043) « I OWE LR, ARILEY
(B HE0 OMWE EFIH, E=HEm8
REWHE, HEFRA, HE
it YO BB
=2 65| 9 - AR (b - Mk 18 12| 15
WA, B WS 1RE,
#5085 « FH6043) - i #E
(MH#EE#EED
WIRERIZE | 60 8 TR B (G K- 23 8| 29
BL<THp% « ¥y« THLEE «
b« TH3E « A« [H3E
MOIRHE > 528H, %
504 « 56043) - mEE (i
HEHEED




SEAE HERNT B EZH K 2024FEARBER m = 2023FEAFTBR
X 2 |emxs | wm momo-n| 2 K (B 2 BED wese - zop | BR-SRESCBE |8 B 8 BB rnenms mzes| B | B |
*RSES % | £ |X| X | B g2 semarcionssecs | NVRX(FH-BE) -B@E| 5 | R | 5 9 BIER), R ZoM x| = | *
S | 8 |5| 5| % kg Zvoneees (ERBFERE) - T D1t & 8 = |z B8 i B 8| =E
T BT 110, 14 izt L A - g (B R ABR1000 (RAK—Y 1 9| 1.2
BRI 110 14 GE)WIEEER U | BE « L%y X7 LT#FR - BHE IR ARG IZE100| 13 71 1.9
EFEHRT | 150 19 TER OB GTIE | R =3 - # - B ;) W05 GEEUIm)| 47 2%| 1.9
2y276T | 110| 12 W, FRCHERE TR | <[Wpdk - W) - [0k - 1L FEAFAM 05 D 12 8| 15
#EFH4VT | 110| 14  (AFR) 2% | hoIEHE>AS2RH, & GE)EZELDHRHZER—~(1)]| 13 10 1.3
e 110, 14 B U 72 IR @ B | SR« B IE R LR WD o LA~ 0K | 43 22| 20
Ll % (E& N =F BT -] » % T k4.0L Lo H I
) S2FHH, Ty A L FERIBET %, (25 F
FR = H - e H® THREF I E 72 i3 2 hic i
<[Wpkk « ¥yl - (LA - 1L ERCR AP O RS
MOIEE > 2 52k H <38 Wb, EhEETOAHE
o E 28 HERiE A >, BRRIBET 5
#5045 « FH6043) o THIHE EE-wEsE
(HEHEEHE0 GE) 2023 AL L T RE
TS [ES ES 110, 22 Frizis L HE e gaAB FIom| 1A BRI RN R AKE | 134 29| 46
Ap yala gl X AB- 3, #5055+ 36050) | 2 [ 1126 128 | 12.20| 4%
' - HiE (HEEEHE0 11.9
1 110 13 AL SRR (- R, 80| 27| 30
& m Kk = e %50)2-\*-‘#6067‘) o I
5 (BB HE0
E % (64) 230| 25 - AR B TA 86| 32| 27
B« 3« [{LJE « k) 52
3.5 BHH, £%&50s% « 56043) «
mE (HEEHE0
A-vHE | AR—URE | 225) 4 1R AR =Y o fEEEGE | HH - FERAR (JLNA, 24 5| 48
pEEERY | 70| 7 BB AT | B DA S1FH, 2| 8| 28
%5055 « FF6043) « i
(HEEEHEEO
a-vig | ZR—EE | 225| 60 BEhic 2K — Vg | B - FEEE Q6EHED 114 61| 1.9
BEEEHHE | 70| 10 NEHTBH S 17 HA#R) - e (e 12 13 -
GE)FRHE U7 | B — 50 R DIEXC & <>
- R ER LR | ) 11|
P 112(3.0| O | &A2. 721 T kg 0 © 1 12.8 | 12.20
(A RELER) ! <ThifE>
() nJ 11.9 1.22
GE) A¥#, KA
&L THERZED)
IS AT 5 &




& M KX %

(%)

FIRN O &
T, KENED D
[ 5« Mo b R %
S Hb g B 1 R
35 cHDIH,

WHE B X O EHEHRE
HTo 75 L] ~
DBMETERTE

EACD)

AB, CEI DI « X I
I, 4508 « 56043) « 1
B

EEFEB=HFI - X7 b

11.26 | 12.8 | 12.20

GHBUI THEHRI 7% ),
A115088

GE) HBRFIC AR A F 72132 4R
FEE DTN « 2R - Il D4
RcEEd 2803, R
RS b T

SEAE HERNT B E A& 2024FEARBER m = 2023FEARBR

¥ 7 / = % == S 8 ,.‘5\ * 5F[a]) * E ¥ S il - N - ::E\ é 2

ey |#EE | ww smwon)| 2 F |5 B|E R wese con R FRERSW | G| 2 8 180 conenmx manm| 5 | B | 2
SEC F | T |X|X|E |[EF xsuaronomesec | o = 18 HA k ¥ |F BIER), B, ZoM = =

S | 8 |5| 5| % kg Zvoneees (ERBFERE) - T D1t & 8 = |z B8 ' ' B 8| =E

110 1 UM « Pl < b0 | 358 - SRl (I T Sl aBR10005, HEES0 M 38 10| 3.8




